PROJECT PAY FORM

FOC

PARTIAL	PAY ESTIMA	TE NO. <u>1</u>	8		FOCUS ENGINEERING, inc.									
	OWER NO. 3 NO. 2020.118				PER FRC	RIOD OF ESTIMATE OM <u>6/1/2024</u> TO <u>7/31/2024</u>								
CITY OF 3800 LAV LAKE ELN	OWNER: LAKE ELMO VERNE AVENU MO, MN 55042 ACK GRIFFIN, C			PH0 182	CONTRACTOR: PHOENIX FABRICATORS & ERECTORS, LLC 182 SOUTH CR 900 EAST AVON, IN 46123									
(CONTRACT CH	ANGE ORDER SUM	IMARY	1		PAY ESTIMAT	F SUMMA	RY						
	Approval	Amo		1.0)riginal	Contract Amoun	and the second se	\$3,493,000.00						
No.	Date	Additions	Deductions		_	ange Order Sum		\$3,675.00						
1	7/25/2023	\$3,675.00	\$0.0			Contract (1+2)		\$3,496,675.00						
	-		,			Completed		\$3,429,995.87						
				1		Materials		\$0.00						
				6. S	ubtota	l (4+5)		\$3,429,995.87						
				1	etaina			\$85,749.90						
				8. P	reviou	s Payments		\$3,258,496.08						
TOTALS	S	\$3,675.00	\$0.0	00 9. A	mount	t Due (6-7-8)		\$85,749.89						
NET CH	IANGE	\$3,675.00		*De	tailed E	Breakdown Attache	d							
			CONT	RACT TIM	1E									
	TE: TIAL COMPLETI MPLETION:	3/16/202 ON: 10/13/20 11/17/20	23	ORIGINAL REVISED D REMAININ	AYS _	611 0 -257		DULE ES X IO						
The under the best of estimate a accordance CONTRAC The under	of their knowled are correct and ce with the cont CTOR'S CERTIF rsigned Contrac	that the work has ge and belief, the c the work has been tract documents.	uantities show performed in the best of the	and to n in this	ENGINE 10/ DATE	S Engineering, inc Hukuyyyy TER 10/2024 RACTOR VodVo	Link							
payment of contract of contracto issued and payment s	Collections of 1/2024	anager												
APPROVE	ED BY OWNER	CITY OF LAN	(E ELMO, MIN		BY									
					זט									
DATE				-	DATE									
JS Engineerir	inc.							PROJECT PAYMENT FC						

PARTIAL PAY ESTIMATE NO. 18

WATER TOWER NO. 3 CITY OF LAKE ELMO, MINNESOTA PROJECT NO. 2020.118

FOCUS ENGINEERING, inc.

ITEMA		UNIT		CONTRACT	- -	THIS	PERIOD	тоти	AL TO DATE
ITEM	DESCRIPTION OF PAY ITEM	UNII	QUANTITY	UNIT PRICE	AMOUNT	QUANTITY	AMOUNT	QUANTITY	AMOUNT
	BASE BID								
1	SITE GRADING	LS	1.00	\$18,000.00	\$18,000.00	0.00	\$0.00	1.00	\$18,000.00
2	ROCK CONSTRUCTION ENTRANCE	EACH	1.00	\$3,400.00	\$3,400.00	0.00	\$0.00	1.00	\$3,400.00
3	TRAFFIC CONTROL	LS	1.00	\$12,000.00	\$12,000.00	0.00	\$0.00	1.00	\$12,000.00
4	SUBGRADE EXCAVATION	CY	175.00	\$14.00	\$2,450.00	0.00	\$0.00	175.00	\$2,450.00
5	GEOTEXTILE FABRIC TYPE V	SY	200.00	\$17.50	\$3,500.00	0.00	\$0.00	200.00	\$3,500.00
6	ORGANIC TOPSOIL BORROW	CY	175.00	\$35.00	\$6,125.00	0.00	\$0.00	175.00	\$6,125.00
7	SELECT GRANULAR BORROW	CY	200.00	\$29.00	\$5,800.00	0.00	\$0.00	200.00	\$5,800.00
8	AGGREGATE BASE, CLASS 1 (MODIFIED)	CY	8.00	\$45.00	\$360.00	0.00	\$0.00	8.00	\$360.00
9	AGGREGATE BASE, CLASS 6 (CV) (P)	CY	375.00	\$65.00	\$24,375.00	0.00	\$0.00	375.00	\$24,375.00
10	TYPE SP 9.5 WEARING COURSE MIX (3,C)	TON	80.00	\$130.00	\$10,400.00	0.00	\$0.00	80.00	\$10,400.00
11	BIT. MATERIAL FOR TACK COAT	GAL	35.00	\$30.00	\$1,050.00	0.00	\$0.00	35.00	\$1,050.00
12	5" CONCRETE SIDEWALK	SF	202.00	\$20.00	\$4,040.00	0.00	\$0.00	202.00	\$4,040.00
13	8" CONCRETE SIDEWALK	SF	240.00	\$45.00	\$10,800.00	0.00	\$0.00	240.00	\$10,800.00
14	CONNECT TO EXISTING WATER MAIN	EACH	1.00	\$1,900.00	\$1,900.00	0.00	\$0.00	1.00	\$1,900.00
15	6" DIP WATER MAIN PIPE, CL. 52 (POLY ENCASED)	LF	17.00	\$55.00	\$935.00	0.00	\$0.00	17.00	\$935.00
16	16" DIP WATER MAIN PIPE, CL. 52 (POLY ENCASED)	LF	78.00	\$140.00	\$10,920.00	0.00	\$0.00	84.00	\$11,760.00
17	6" GATE VALVE & BOX	EACH	1.00	\$2,500.00	\$2,500.00	0.00	\$0.00	1.75	\$4,375.00
18	HYDRANT	EACH	1.00	\$6,000.00	\$6,000.00	0.00	\$0.00	1.00	\$6,000.00
19	DUCTILE IRON FITTINGS	LB	650.00	\$9.00	\$5,850.00	0.00	\$0.00	1,155.00	\$10,395.00
20	4' X 4' CATCH BASIN WITH GRATING	EACH	1.00	\$4,500.00	\$4,500.00	0.00	\$0.00	1.00	\$4,500.00
21	1.5" CLEAR ROCK (WRAPPED IN TYPE 1 GEOTEXTILE FABRIC)	CY	16.00	\$85.00	\$1,360.00	0.00	\$0.00	16.00	\$1,360.00
22	18" RCP STORM SEWER PIPE, CL. V	LF	100.00	\$110.00	\$11,000.00	0.00	\$0.00	100.00	\$11,000.00
23	18" RCP APRON W/ TRASH GUARD	EACH	1.00	\$2,500.00	\$2,500.00	0.00	\$0.00	1.00	\$2,500.00
24	15" CAS PIPE CULVERT	LF	73.00	\$55.00	\$4,015.00	0.00	\$0.00	73.00	\$4,015.00
25	15" CAS PIPE APRON W/ TRASH GUARD	EACH	2.00	\$450.00	\$900.00	0.00	\$0.00	2.00	\$900.00
26	HAND PLACED RIP RAP, CL. III	CY	20.00	\$125.00	\$2,500.00	0.00	\$0.00	20.00	\$2,500.00
27	GEOTEXTILE FABRIC TYPE IV	SY	74.00	\$4.50	\$333.00	0.00	\$0.00	74.00	\$333.00
28	GEOTEXTILE FABRIC TYPE V	SY	400.00	\$4.50	\$1,800.00	0.00	\$0.00	400.00	\$1,800.00
29	SILT FENCE, TYPE HI	LF	300.00	\$6.00	\$1,800.00	0.00	\$0.00	300.00	\$1,800.00
30	SEDEMENT CONTROL LOG TYPE WOOD FIBER	LF	40.00	\$7.00	\$280.00	0.00	\$0.00	40.00	\$280.00
31	TEMPORARY SEEDING MIX (MIX 22-112 WITH TYPE 1 MULCH)	ACRE	0.50	\$5,000.00	\$2,500.00	0.00	\$0.00	0.50	\$2,500.00
32	SEEDING (MIX 25-141 WITH FERTILIZER & HYDROMULCH)	ACRE	0.50	\$9,000.00	\$4,500.00	0.00	\$0.00	0.50	\$4,500.00
33	CONIFEROUS TREE 8' HT B&B	TREE	12.00	\$550.00	\$6,600.00	0.00	\$0.00	12.00	\$6,600.00
34	LOAM TOPSOIL BORROW	CY	28.00	\$55.00	\$1,540.00	0.00	\$0.00	28.00	\$1,540.00
35 36	MULCH MATERIAL TYPE 6 1 MG COMPOSITE ELEVATED WATER STORAGE TANK, FOUNDATION, GENERAL ELECTRICAL AND ALL ASSOCIATED COMPONENTS AS SHOWN IN PLANS & SPECFICIATIONS (NOT OTHERWISE LISTED ON BID FORM) - SEE BELOW	СҮ	27.50	\$46.00	\$1,265.00	0.00	\$0.00	27.50	\$1,265.00
36.1	WATER TOWER - ENGINEERING / BONDS / INSURANCE	LS	1.00	\$174,000.00	\$174,000.00	0.00	\$0.00	1.00	\$174,000.00
36.2	WATER TOWER - DRILLED PIERS	LS	1.00	\$120,000.00	\$120,000.00	0.00	\$0.00	1.00	\$120,000.00
36.3	WATER TOWER - FOUNDATION	LS	1.00	\$460,000.00	\$460,000.00	0.00	\$0.00	1.00	\$460,000.00
36.4	WATER TOWER - CONCRETE SHAFT	LS	1.00	\$550,000.00	\$550,000.00	0.00	\$0.00	1.00	\$550,000.00
36.5	WATER TOWER - TANK MATERIAL / FABRICATION	LS	1.00	\$1,083,202.00	\$1,083,202.00	0.00	\$0.00	1.00	\$1,083,202.00
36.6	WATER TOWER - TANK DELIVERY	LS	1.00	\$36,000.00	\$36,000.00	0.00	\$0.00	1.00	\$36,000.00
36.7	WATER TOWER - ERECTION	LS	1.00	\$350,000.00	\$350,000.00	0.00	\$0.00	1.00	\$350,000.00
36.8	WATER TOWER - PAINTING	LS	1.00	\$250,000.00	\$250,000.00	0.00	\$0.00	1.00	\$250,000.00
36.9	WATER TOWER - ELECTRICAL	LS	1.00	\$68,000.00	\$68,000.00	0.00	\$0.00	1.00	\$68,000.00
37	SCADA AND NEW RTU AT NEW TOWER, AND UPDATES TO MASTER CONTROL PROGRA	LS	1.00	\$44,000.00	\$44,000.00	0.00	\$0.00	1.00	\$44,000.00
38	PRV STATION VALVE MODIFICATIONS AND ASSOCIATED ELECTRICAL RTU AND SCADA I	LS	1.00	\$100,000.00	\$100,000.00	0.00	\$0.00	1.00	\$100,000.00
39	FURNISH AND INSTALL COMPLETE GAS CHLORINATION SYSTEM	LS	1.00	\$80,000.00	\$80,000.00	0.00	\$0.00	0.08	\$6,060.87
40	CO1 - ADD INSULATION & FRP PANELING TO CONTROL ROOM EXTERIOR WALL	LS	1.00	\$3,675.00	\$3,675.00	0.00	\$0.00	1.00	\$3,675.00
	BASE BID				\$3,496,675.00		\$0.00		\$3,429,995.87

TOTALS - BASE CONTRACT

\$3,496,675.00

\$3,429,995.87

\$0.00

WATER TOWER NO. 3 CITY OF LAKE ELMO, MINNESOTA PROJECT NO. 2020.118

FOCUS ENGINEERING, inc.

ITC		NUT		CONTR	ACT	PARTIAL PA	Y ESTIMATE 1	PARTIAL PAY	ESTIMATE 2	PARTIAL PAY E	STIMATE 3 (Jul	PARTIAL PAY E	STIMATE 3 (Au	PARTIAL PA	Y ESTIMATE 4	PARTIAL PA	Y ESTIMATE 5	PARTIAL PAY	ESTIMATE 6	PARTIAL PAY	ESTIMATE 7
ITEI	DESCRIPTION OF PAY ITEM UI	NIT	UNIT PRICE	PAY QUANTITY	AMOUNT	QUANTITY	AMOUNT	QUANTITY	AMOUNT	QUANTITY	AMOUNT	QUANTITY	AMOUNT	QUANTITY	AMOUNT	QUANTITY	AMOUNT	QUANTITY	AMOUNT	QUANTITY	AMOUNT
	BASE BID																				
1	SITE GRADING	LS	\$18,000.00	1.00	\$18,000.00		\$0.00		\$0.00	0.75	\$13,500.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
2	ROCK CONSTRUCTION ENTRANCE EA	АСН	\$3 <i>,</i> 400.00	1.00	\$3,400.00		\$0.00	1.00	\$3,400.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
3	TRAFFIC CONTROL	LS	\$12,000.00	1.00	\$12,000.00		\$0.00	0.25	\$3,000.00	0.50	\$6,000.00	0.25	\$3,000.00		\$0.00		\$0.00		\$0.00		\$0.00
4	SUBGRADE EXCAVATION	CY	\$14.00	175.00	\$2,450.00		\$0.00	175.00	\$2,450.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
5	GEOTEXTILE FABRIC TYPE V	SY	\$17.50	200.00	\$3,500.00		\$0.00		\$0.00		\$0.00	200.00	\$3,500.00		\$0.00		\$0.00		\$0.00		\$0.00
6	ORGANIC TOPSOIL BORROW	CY	\$35.00	175.00	\$6,125.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
7	SELECT GRANULAR BORROW	CY	\$29.00	200.00	\$5,800.00		\$0.00		\$0.00		\$0.00	200.00	\$5,800.00		\$0.00		\$0.00		\$0.00		\$0.00
8	AGGREGATE BASE, CLASS 1 (MODIFIED)	CY	\$45.00	8.00	\$360.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
9		CY	\$65.00	375.00	\$24,375.00		\$0.00		\$0.00	275.00	\$17,875.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
10		ON	\$130.00	80.00	\$10,400.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
11		GAL	\$30.00	35.00	\$1,050.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
12		SF	\$20.00	202.00	\$4,040.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
13		SF	\$45.00	240.00	\$10,800.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
14		ACH	\$1,900.00	1.00	\$1,900.00		\$0.00		\$0.00		\$0.00		\$1,900.00		\$0.00		\$0.00		\$0.00		\$0.00
15		LF	\$55.00	17.00	\$935.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
16		LF	\$140.00	78.00	\$10,920.00		\$0.00		\$0.00		\$0.00		\$11,760.00		\$0.00		\$0.00		\$0.00		\$0.00
17		ACH	\$2,500.00	1.00	\$2,500.00		\$0.00		\$0.00		\$0.00		\$1,875.00		\$0.00		\$0.00		\$0.00		\$0.00
18		ACH	\$6,000.00	1.00	\$6,000.00		\$0.00		\$0.00		\$0.00		\$4,500.00		\$0.00		\$0.00		\$0.00		\$0.00
19		LB ACH	\$9.00	650.00	\$5,850.00		\$0.00		\$0.00		\$0.00		\$10,395.00		\$0.00		\$0.00		\$0.00		\$0.00
20 21		СҮ	\$4,500.00 \$85.00	1.00 16.00	\$4,500.00		\$0.00 \$0.00		\$0.00		\$0.00 \$0.00		\$0.00		\$0.00		\$0.00	1.00	\$4,500.00 \$1,275.00		\$0.00 \$0.00
21		LF	\$85.00 \$110.00	10.00	\$1,360.00 \$11,000.00		\$0.00		\$0.00 \$0.00		\$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00	15.00 87.00	\$1,273.00		\$0.00
23	,	ACH	\$2,500.00	1.00	\$11,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	1.00	\$2,500.00		\$0.00
23	,	LF	\$55.00	73.00	\$2,500.00	73.00	\$4,015.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	1.00	\$2,300.00 \$0.00		\$0.00
25		ACH	\$450.00	2.00	\$900.00	2.00	\$900.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
26		СҮ	\$125.00	20.00	\$500.00	2.00	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
27	,	SY	\$4.50	74.00	\$333.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
28		SY	\$4.50 \$4.50	400.00	\$1,800.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
29		LF	\$6.00	300.00	\$1,800.00		\$0.00	300.00	\$1,800.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
30		LF	\$7.00	40.00	\$280.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
31		CRE	\$5,000.00	0.50	\$2,500.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
32		CRE	\$9,000.00	0.50	\$4,500.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
33	CONIFEROUS TREE 8' HT B&B	REE	\$550.00	12.00	\$6,600.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
34	LOAM TOPSOIL BORROW	CY	\$55.00	28.00	\$1,540.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
35	MULCH MATERIAL TYPE 6	сү	\$46.00	27.50	\$1,265.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
36	1 MG COMPOSITE ELEVATED WATER STORAGE TANK, FOUNDATION, GENERAL ELECTRICAL AND ALL ASSOCIATED COMPONENTS AS SHOWN IN																				
	PLANS & SPECFICIATIONS (NOT OTHERWISE LISTED ON BID FORM) - SEE BELOW																				
36.		LS	\$174,000.00	1.00	\$174,000.00	1.00	\$174,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
36.	2 WATER TOWER - DRILLED PIERS	LS	\$120,000.00	1.00	\$120,000.00		\$0.00	1.00	\$120,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
36.			\$460,000.00	1.00	\$460,000.00	0.20	\$92,000.00	0.50	\$230,000.00	0.30	\$138,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
36.			\$550,000.00	1.00	\$550,000.00		\$0.00		\$0.00		\$0.00	0.25	\$137,500.00		\$330,000.00		\$82,500.00		\$0.00		\$0.00
36.			\$1,083,202.00	1.00	\$1,083,202.00		\$0.00		\$0.00		\$0.00		\$0.00	0.10	\$108,320.20	0.05	\$54,160.10	0.05	\$54,160.10	0.02	\$21,664.04
36. 36.			\$36,000.00 \$350,000.00	1.00 1.00	\$36,000.00 \$350,000.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00
36.			\$250,000.00	1.00	\$350,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
36.			\$68,000.00	1.00	\$68,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$11,560.00		\$0.00
37	SCADA AND NEW RTU AT NEW TOWER, AND UPDATES TO MASTER		\$44,000.00	1.00	\$44,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
38	CUNTROL PROGRAMMING PRV STATION VALVE MODIFICATIONS AND ASSOCIATED FLECTRICAL RTU		\$100,000.00	1.00	\$100,000.00	0.26	\$26,000.00		\$4,000.00	0.26	\$26,000.00		\$10,000.00		\$5,000.00		\$0.00		\$0.00		\$0.00
39		LS	\$80,000.00	1.00	\$80,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
40	CO1 - ADD INSULATION & FRP PANELING TO CONTROL ROOM EXTERIOR	LS	\$3,675.00	1.00	\$3,675.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	WALL					l		I		1											
	BASE BID				\$3,496,675.00		\$296,915.00		\$364,650.00		\$201,375.00		\$190,230.00		\$443,320.20		\$136,660.10		\$83,565.10		\$21,664.04
	TOTALS				\$3,496,675.00		\$296,915.00		\$364,650.00		\$201,375.00		\$190,230.00		\$443,320.20		\$136,660.10		\$83,565.10		\$21,664.04

O DATE	TOTAL 1	PARTIAL PAY ESTIMATE 18	TIMATE 17	PARTIAL PAY ESTIMAT	ATE 16	PARTIAL PAY ESTIMATE 16	ARTIAL PAY ESTIMATE 15	PARTIAL PAY ESTIMATE 14	PARTIAL PAY ESTIMATE 13	PARTIAL PAY ESTIMATE 12	PARTIAL PAY ESTIMATE 11	ESTIMATE 10	PARTIAL PAY	PARTIAL PAY ESTIMATE 9	PARTIAL PAY ESTIMATE 8
AMOUNT	QUANTITY	QUANTITY AMOUNT		-		QUANTITY AMOUNT	ANTITY AMOUNT	QUANTITY AMOUNT	QUANTITY AMOUNT	QUANTITY AMOUNT	QUANTITY AMOUNT	AMOUNT	QUANTITY	QUANTITY AMOUNT	QUANTITY AMOUNT
		~~~~~		~~~~~									2000		~~~~~~
\$18,000.00	1.00		\$4,500.00	0.25 \$4	\$0.00	\$0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00
\$3,400.00	1.00		\$0.00	0.25 \$	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$12,000.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$2,450.00	175.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$3,500.00	200.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$6,125.00	175.00		\$6,125.00	175.00 \$6	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$5,800.00	200.00		\$0.00	175.00 90	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$360.00	8.00		\$180.00	4.00	\$0.00		\$0.00	\$0.00	4.00 \$180.00		\$0.00	\$0.00		\$0.00	\$0.00
\$24,375.00	375.00		\$6,500.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$10,400.00	80.00		\$10,400.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$1,050.00	35.00		\$1,050.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$4,040.00	202.00		\$4,040.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$10,800.00	240.00		\$10,800.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$10,800.00	1.00		\$10,800.00 \$0.00	2-0.00 \$10	\$0.00 \$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$1,900.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	17.00 \$935.00		\$0.00	\$0.00		\$0.00	\$0.00
\$955.00	84.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00	\$0.00	\$935.00		\$0.00	\$0.00		\$0.00	\$0.00
\$4,375.00	1.75		\$0.00		\$0.00		\$0.00	\$0.00	1.00 \$2,500.00		\$0.00	\$0.00		\$0.00	\$0.00
\$6,000.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	\$2,500.00		\$0.00	\$0.00		\$0.00	\$0.00
\$10,395.00	1,155.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$1,300.00		\$0.00	\$0.00
\$4,500.00	1,133.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$1,360.00	16.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$85.00		\$0.00	\$0.00
\$11,000.00	100.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$1,430.00		\$0.00	\$0.00
\$2,500.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$4,015.00	73.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$4,013.00	2.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$2,500.00	20.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$2,500.00		\$0.00	\$0.00
\$333.00	74.00		\$333.00	74.00	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$1,800.00	400.00		\$1,800.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$1,800.00	300.00		\$0.00	100100 \$1	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$280.00	40.00		\$280.00	40.00	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$2,500.00	0.50		\$2,500.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$4,500.00	0.50		\$4,500.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$6,600.00	12.00		\$6,600.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$1,540.00	28.00		\$1,540.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$1,265.00	27.50		\$1,265.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00			\$0.00
.,			. ,												
\$174,000.00	1.00		\$0.00		\$0.00	¢0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00
\$174,000.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$460,000.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$550,000.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
\$1,083,202.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00	\$0.00	0.25 \$270,800.50	\$270,800.50	0.25	\$0.00	0.28 \$303,296.56
\$36,000.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00		0.80 \$28,800.00	\$0.00		0.20 \$7,200.00	\$0.00
\$350,000.00	1.00		\$0.00		\$0.00		\$0.00	\$0.00	0.35 \$122,500.00		0.42 \$147,000.00	\$0.00		0.18 \$63,000.00	\$0.00
\$250,000.00	1.00		\$0.00	0.01	\$0.00		0.10 \$25,000.00	0.30 \$75,000.00	\$0.00		\$0.00 \$0.00	\$0.00		\$0.00	\$0.00
\$68,000.00	1.00		\$680.00		\$9,520.00		0.28 \$19,040.00	\$0.00	\$0.00		\$0.00	\$27,200.00		\$0.00	\$0.00
\$44,000.00	1.00		\$440.00	0.01	\$6,160.00	0.14 \$6,160	0.60 \$26,400.00	\$0.00	\$0.00	\$0.00	\$0.00	\$11,000.00	0.25	\$0.00	\$0.00
\$100,000.00	1.00		\$1,000.00	0.01 \$1	14,000.00	0 0.14 \$14,000	0.14 \$14,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00
\$6,060.87	0.07576		\$0.00		\$6,060.87	0 0.07576 \$6,060	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00
\$3,675.00	1.00		\$0.00		\$0.00	\$0	\$0.00	\$0.00	1.00 \$3,675.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00
\$3,429,995.87	)	\$0.00	\$64,533.00	\$64	35,740.87	\$35,740	\$84,440.00	\$75,000.00	\$129,790.00	\$167,500.00	\$446,600.50	\$314,515.50		\$70,200.00	\$303,296.56
\$3,429,995.87	)	\$0.00	\$64,533.00	\$64,5	5,740.87	\$35,740.	\$84,440.00	\$75,000.00	\$129,790.00	\$167,500.00	\$446,600.50	\$314,515.50	1	\$70,200.00	\$303,296.56